6.  State the importance of ‘age structure’ and ‘sex ratio’.

AY—{REAT Ud T U’ & HE Dl I8y |

7. What type of measurement is used to measure migration ?

UIT IT QTR BT HU9 & folv fbd UdR & HI9

BT SUINT T Sf1em 8 2
8.  Explain the Push-Pull theory of internal migration.

JTARP TaIT B AMBYIT—UATHYT Rigid BT IRAT

HIFTY |
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Note : This paper is of Eighty (80) marks divided into two
(02) Section A and B. Attempt the questions
contained in these sections according to the detailed
instructions given therein.
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SECTION—A
YUls—dh
(Long-Answer-Type Questions)

(el IO 9t gE)

Note : Section ‘A’ contains five (05) long-answer-type questions

dic :

of twenty (20) marks each. Learners are required to
answer any two (02) questions only. 2x20=40
Qgus ‘% g (05) <E SRT q1et -y oI W €,
TAd U & forg 9197 (20) 3id FaiRa € | Rremfai
B ZTH W daa & (02) T b IR <A B |
“The main reason for the increase in the size of the
population of India is the declining death rate.” Do

you agree with this statement ?

“NRT B G B HR DI I BT YT HR]

Hedl ¥ SX 2|7 97 31U 39 HAF 9 HeHd § ?
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1.  What do you understand by moderate growth of
population ?
ST @7 JAifed gig ¥ MY I FASK © °

2. What motivation measures were taken in Population

Policy 2000 for the promotion of small family ?

SeRAET Hifd 2000 § B URIR & YT g R
WRE SUY by Y o ?
3. Write a short note on women’s education.
Afgen Rrem w e fewoh faRkay |
4.  State the features of National Rural Health Mission.
TS UTHIOT Taeed A9 & fagivdmeil & 9a18y |
5. What do you understand by population explosion ?

Explain its positive and negative aspects.

ST favpie & I 99sd § 7 sHd ABRIHS

TAqT THRIHD YT Dl T BHITY |
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Give arguments in favor of family planning in India.

Mention the obstacles family planning in India.

IRd ¥ URIR e & uel ¥ do <ITY | 9Rd o
gRaR A @ AR # 3 drell 91 9qrsy |
Briefly explain the health and nutrition policies of the

central government.

BaR AXBR D WY Ud Iyl Fiell Afadl ol
e\ |

What do you understand by Human Developmnt Index ?
Explain the different stages of Human Development

Index.

Aa B Jadih W a1 F9sid 81 7 Ad e

Jadie & faf= ==l &1 F9ersd |
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A {9 Fadbie H -1 GHd 81 7 A9 A

Jawis & fafa= aRo BT FwHEsy |

MAEC-610/6 (3) [P.T.O.]



5. What do you understand by urbanization ? State its
characteristic, cause and effect.
TRIBROT W 9T A & 7 $qDb! [dATamy, HRT vg
RGO RCRIED
SECTION—B
Yis—Y¢
(Short-Answer-Type Questions)
(erg ST ardd 9eA)

Note : Section ‘B’ contains eight (08) short-answer-type
questions of Ten (10) marks each. Learners are required
to answer any four (04) questions only. 4x10 =40

e : guve @ # 1S (08) oY STRI arel yed QI T €,
TS Ued @ foly <9 (10) 3fd fuiRa g | Rt

B T4 | B IR (04) U B SR <7 © |

MAEC-610/6 (4)

5. What do you understand by urbanization ? State its
characteristic, cause and effect.
TRIBROT & 1 A & ? $D! [I9amy, HRT vg
JHATd BT 9T |
SECTION—B
Yls—Y
(Short-Answer-Type Questions)
(erg ST ardd 9eA)

Note : Section ‘B’ contains eight (08) short-answer-type
questions of Ten (10) marks each. Learners are required
to answer any four (04) questions only. 4x10 =40

e : grve @ # e (08) oY STRI arel yed ¥ W §
g U B for 9 (10) 3 feiRa € | Rremfrat

B 394 ¥ DA IR (04) T B SR <7 B |

MAEC-610/6 (4)



